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8/, 620 980 780 1,400 94 100 1,420
1 1,050 1,730 1,080 2,200 1 100 1,740
11/, 1,890 2,470 1,520 4,220 1/, 100 2,350
11/, 2,220 2,810 1,780 4,910 1/, 100 2,780
2 3,420 4,460 3,050 7,150 2 150 4,630
21/ 6,970 9,560 5,270 8,960 21/ 200 6,960
3 10,170 13,750 6,880 13,170 3 200 8,140
4 15,190 22,600 11,850 20,180 4 200 12,010
1X3/4 1,740 1,290 (HEfi: 111
11/4X1
11/2X3/4 2,500
11/:X1 2,500
11/2X11/4 2,500
2X3/4
2x1 5,900
2% 11/ 5,260 5,690 3,450
21/5X2 12,800 11,940 6,410
3x2 15,940 9,200
3X21/, 16,960 15,940 9,200
4X2 26,480
4X21/ 14,820
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TLE (L) 65A 22,380 5 T4 2 T S
TR (L) 80A 37,210 3
LA (L) 100A 64,980 2 654 200 10,350
T (L) 125A 138,220 1 80A 200 12,320
EPET LA (RL) 100A X 65A 70,200 2 100A 200 18,450
Ty b (S) 65A 18,020 6 (HEfY: = 111
7y b (S) 80A 27,420 4
U7y b (S) 100A 37,100 2
Uy b (S) 125A 109,030 1
RV 7 v b (RS) | 100A X 65A 34,660 3
F— 2 (T) 100A 108,590 1

80A X 25A 59,740 3
R F— X (RT) 100A X 25A 122,440 2
100A X 65A 127,240 2
45° T LR 65A 36,170 5
45° T LK 100A 81,820 2




